
INHERITANCE CHART 

 

 

 

 
Situation 1: X dies leaving 

3 children: A, B, and C 

2 grandchildren: D and E 

(children of A) 

 
Situation 2: X dies leaving 

2 children: B and C,  

A having predeceased X 

2 grandchildren: D and E  

(children of A) 

INHERITANCE  

TYPE 

PERSON RELATIONSHIP PORTION 

 OF  

ESTATE 

 PERSON RELATIONSHIP PORTION 

 OF  

ESTATE 

PER STIRPES A Child 1/3     

 B Child 1/3  B Child 1/3 

 C Child 1/3  C Child 1/3 

 D Grandchild 0  D Grandchild 1/6 

 E Grandchild 0  E Grandchild 1/6 

 

INHERITANCE  

TYPE 

PERSON RELATIONSHIP PORTION 

 OF  

ESTATE 

 PERSON RELATIONSHIP PORTION 

 OF  

ESTATE 

PER CAPITA A Child 1/5     

 B Child 1/5  B Child 1/4 

 C Child 1/5  C Child 1/4 

 D Grandchild 1/5  D Grandchild 1/4 

 E Grandchild 1/5  E Grandchild 1/4 

 


